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s 3-2 Szt Jld dE
1 Az 1.1.3 ole| ojzte| ArztHlo| 2t
1.1.1 Azt [PHE]
7] AB, OB, CD
1) L € oy (E0l) (1) AB, OA, AB, 1, AB
brbtoe - (2) OB, OA, OB, 1, OB
(Zo|) 7|22t 0| o i:% (3) OC, 0D, OC, 1, OC
- - o AC Ha2]
Ab_4 BC_3 A5_4 EC_3 | ) §p=5C, AC=0, AC, BC, AC
AC AB AC AC N
o (2) AB=AC, BC=0, AC, BC, AC
2:% @op o, L, VE N3 VB2
BC = 2 2 ' 2 r T 2
15 15 15
Zoy -2 2 Y
T % 0, 0, —‘f,l,ﬁ
B
hs2] . Ph3)
(1) cos (90° —x), i (2) AfztH|, 0.7314, 0.6691, 1.0355
Y [7HE4]
(2) sin(90° —x), i (1) 00{IA 17}7|
. (2) Zasict
(3) 90" =z, —, & (3) 00iIA]
1.1.2 S43 zto| Mzu|o| 3t 1.2.1 &2ge] 1ol Qo2 =0|
KR [7HE]
— 1
1 V2 V3 V3 V2 1 V3 1 (1) bsinA, bcosA, ACcosA, 4cos60°, 4><§,
2 2 2 ' 2 2 * 2 3 '
V3 2(cm), ACsinA, 4sin60° 4><£,
BD 1 AD_ V3 AD 3 ?
BD 1 AD _ _
_ _ _ C
BD_1 BD_L_ V5 AD_ g5 @) et S8 T s B
AB 2" AD V3 3 BD 500y
— — = J 79
o) COh_ 1 _+v2 BC_ 1 _ 2 41 10
@ \/5 2 B— \/5 2 (3) a a ﬁ 4
@_1 sinA ' tanA ' sinA’ tan30°
BC [PHE2]
= 1\2 12 1 (1) csinB, a—ccosB, ﬁﬂ@?
(Z0]) 5 + 5 =3 L 5
(csinB)* + (a—ccosB)
1L, v3_1+v8 ) asinB  asinC
2 2 2 sinA ' sinA
(Z0|) 6c0s30°, 3+/3 (cm),
5v3—3v3=2v3(cm)
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[PHE3]
(1) a, tan(90° —x)+tan(90° —y), %

htan(90° —z), CTH htan(90° —y),

htan(90° —z), htan(90° —y), a
tan(90° —x)+tan(90° —y)

’

(2) a, tan(90° —z)—tan(90° —y), %

htan(90° —z), CTH htan(90° —y),

htan(90° —xz)—htan(90° —vy), a
tan(90° —z)—tan(90° —y)

T \/§ T

’

Z0

(Z00) tan60° 3 . tan45° ' T
V3 150

Y2 z4x, 50, — = 25(3— V/3)
3 34+ V3

1.2.2 249l Ho|
[PHE1]

1 . 1 — —
(1) EbcsinA, bsinA, EXABXCH,
1 . 1 . o . o
EbCSII’lA, §><10><12><s1n40 , 60sin40
1 . . o
(2) 5bcsin(180 —A), bsin(180° —A),

1 — — 1
5><AB><CH, 5bcsin(180° —A),

1
§><12><18><sin(180° —150°), 108sin30°
1 1

(£01) 5 X810Xsin60", §X8X10X§
204/3 (cm?)
1g2]
1
EabsinB, absinB, 5X7 Xsin60 ", 35><§,
353

2
(£0]) 10Xx11xsin(180° —135°),

V2

10X 11X ==, 55/2 (cm?)

Of!
ru
o2k
\J
—
11m}
ox
(1L

[H'E3]

iab inx iab inzT l><7><8>< inb4°
5 bsinz, —absinz, < sin ,
28sinb4 °

2 go| M

2.1.1 9o 2k d&

PHE1]

59| Zo|, 89| 20| AB=CD, AB=CD, &
Mzt 2AOB= 2COD, dH|2{stct, AH[2|5tA]|
ot
LS

o
(£0]) &H[&st4], ®
[hE2]
(1) O|SE3Ct AH=BH, OA=O0B, O|StA

, AOAH = AOBH, RHS &%, AH=B
(2) 2AE 2HCH OMLAB, $20[SEHM,
AOAM = AOBM, SSS B, 180°, 90°,
OM_LAB

(Z0]) AM, BM, 5x2, 10cm

[7HE3]

(1) & 819 Zol= 2T, AB=CD, BM=CN,
AB=2BM, CD=2CN, AB=CD

(2) OM=ON, AM=BM, CN=DN,
AM=DN, OM=ON

(£0]) OM, ON, AB, CD, 10cm

N
ogl

2.1.2 Yo MM

PHE1]

Hottt, ottt M, M, dH, &H
PHE2]

(1) 22, 1L0T, dM, 1L0T

(E0]) =M, &, ®

[PhE3]

(1) 274, 42l Zo
(2) & M9 Zol= &,
/PAO=2PBO=90°, RHS 8=, PA=PB
(20|) PA =PB, ZAPO = ZBPO, @, ®,
®
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2.1.3 fo] Mo g2 2.2.2 Y=2to| 379} 59 Zo|
PHE1] PHE1]
(1) AE=AF, BD=BF, CD=CE (1) M2 ZTh AB=CD, 2APB= 2CQD
atb+c=2(x+y+z), %ar—l—lberEcr ZAOB= 2COD, —AAOB —ACOD
—r(a+b+c) <CQD
— = 1
1 1 (2) M2 ZCt, AB=CD, - £AO0B,
(2) AAHZH, 5r(a+b+c), iab
— _— —/COD, 2CQD, 2COD, AB=CD
(£0]) », AD=3—r, BD=4—r, AD+DB
B—r)+@—r), 2=2r, 1(cm) (3) BYABICH, 220, ~2a, 2a, £CQD
[PHE2]
(1) AB+CD=AD+BC (=2l) =il 20|
— = = 1 1
(AE+BE)+(CG+DG), 3 4BPC, —BC 512, 4
(gjLB_FH(CEHE)’ (Z0]) BC=CD=AB, 2x4=8(cm)
(AH+DH)+ (BF+CF),
AD+BC 2.3.1 2of| UiEste Azt
2) 7+5=12(cm), 4+8=12(cm), BC+DA. | [7#41]
Q| Hst= St 2 20 T, £ACB, £DEB+ 2EBD
(£0]) AB+CD=AD+BC /ACB+ ZEBD, ZADB > ZACB,
134+ (x+6)=9+3z, 22=10, .. z=5 ZAEB— ZDBE, £ACB— ZDBE,
/ADB < 2 ACB
2.2.1 YZztap Azt PhE2]
HaT] (1) 1807, 180°, ~ 2, ~ 2y,
(1) ¥, d322Z APB, = 2 2
1 . .
(2) ZAOB, ZAP'B, ZAP"B, —AAOB 5 (2t 2y)=180", 180
ZAPB+ ZOAP = ZAOB, £AOB, (&) A
(2) ZDCE, 180°, 180°, 2DCE
—LAOB —LAOQ —LBOQ —LAOB [743]
/ZROB— ZROA, 2/RPB, 24RPA, (1) 1807, 180", WH
(2) 180", WH
ZRPB— ZRPA, —AAOB —AAOB ha]
%LAOB=50° /PQD, ZPQB, 180°, 180°, AB//CD
IT 1 o o
(Z0|) LBAC=54" 100°, 100° — Lz =46" (Z0) 5 <=, 180", 180", £PDC, 104
PHE 2] 2
(1) 90°, ZAPB= ZAQB=90
247) L AOB=90° 90° —15° =75° 2.3.2 ¥XM1t so| o|2E 2
2 [ 1]
(1) ZACB
[ [ Z5 3-2
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(2) =2, 8,
[PHE2]

(1) 2BTQ= 4PTD= 4DCT, AB//CD,
/DCT, Zy=70°, AB//CD

(2) 2CTQ= 2CDT, AB//CD. 4CDT,

Zy=60° AB//CD

ZACB, @M

3 &4
3.1.1 CHEY
[7HE1]
(1)

No
- = —

/\GA
T o2
gy gy

Wi

T
o5+3+6+4+4+3+4+4+5 40
10 " 107
4, a=4, b=4, 4+4=8
[PHE2]
T+ xy+ 0+,

n

0
o &
T om

E H poopor?

WA

[PHE3]
n+1l n+1
(M) 2 2

2%3 o5

[7iE84]

ZAHMotA| =L

3.1.2 MEE

[PHE1]

(1) E0A As d&=, =4 BEEZ}
S

o
) 245, #&+5, 3t

(2) Bzmz, VED 6
&) A2+F, B, 120, At
(3) Hxf, (Wa})?, 24, HEHAL,
Ttz t+ o+,

(ac1 — m)2 + (1‘2 — m)2 + + (l‘n — m)2
x?-%x%—i— +£B$“ m2, s

g 1]

(1) zf1Fxyfyt+ ot f,
N 1
10xX34+20x54+30x2
10 =19

(2) A23f 10, 11, 400kWh, 500kWh,

450kWh

(3) 25, 25
244

:I:I:O ="

(Z0]) 20 -

15+15
L HA, 2

[7hE2]

o fytanfot o L f,,

(@, —mPf+ @y —m)fy+ - +(x, —m)*f,,
eif T arfyt e Fanf,, m,

12.2, 10ER) Q= Zfa 1188 QU

=15, 15, 12.2, 15, 15

(@< (=)l &8, V50, VEY
32
To=32, V3.2 =1.79

120 160
E=¥0) g g
(BO) —5=12, 4 ~=16, VI6=4

3.2.1 MEEet 3

(1) ﬂjir, (Heh)— (B [PHE]
(2) &4 00|C}, =34+ (—2)+0+1+4=0, ¥ (1) MEE
s, 248, A84E [7HE2]
RI=E] (1) 9, 222, 9 2= 9| AZ g 222
{(mzp)20] 231 (2) 9, oreiZ, /&
(1) B4 (#> e h83]
AbREREA|
=3P+ (=22 +0+12+4% 6 od
Far) ’ (1) 37t ol daaAt, 45t o oz
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[P 1]

(1) =r=28

ol

ol

ZYl,

in]n]
—_ -

3

<0
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(Z0]) 0+1+2=3,
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